Solutions: Chapter 12 Multi-Step Equations and Inequalities
Chapter Test;

1.3y— 8= 16

+8 +8
Jy = 24
v _24
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y=28
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4. -7b + 5 = —51
-5 -5
—7b=—56
—7b_ —56
-7 -7

b=8

(3) = (3)7

By —4= 21
+4 +4
S5y= 25
Sy_25
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6. 8r+7—13 =58
8r— 6= 58
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Solutions: Chapter 12 Multi-Step Equations and Inequalities
Chapter Test;

—12s-6
7. 6= E

(5)6 = (5)@
30=125—6

(3)8.7 = (3)&‘5‘;&—‘—ﬂ

261 = 198 — 4f
—19.8 —19.8
6.3 = —4t
6.3 _ —4t
-4 -4
-15756 =1
9. -14g= 49— 126
—-4g —4q
-18q = —126
—18g _ —126
—18 -18
qg=7

) = 15
10. 6p+4 &P 16

1 21
6 &P
2 - _
Zp+4=-16
-4 -4

25— _
3P 20

B~ 3) -2
p=-—30

1.9 -6k= 3k— 54
+6k +6k

9= 0k— 54

+54 +54
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Solutions: Chapter 12 Multi-Step Equations and Inequalities
Chapter Test;

12, —3.6d= —7d + 34

+7d_ +7d
3.4d = 34
3.4d _ 34
34 34
d=10

13. Let x represent the number of hours.
44 + 45x = 179

—44 —44
45x = 135
45x .. 135
45 45
X=3

It took 3 hours to repair the computer.

14. Let x represent how many dozen they need to sell.
15.75 + 2.25x = 4.50x

—2.26x —2.25x
15.75 = 2.25x
156.76 _ 2.25x
2.25 2.25

T=x

They need to sell 7 dozen to cover their cost.
15. Height > 4 ft
16. Speed = 65 mi/h

17. a< -2
—2 is not a solution, so draw an open circle at —2.
Shade the line to the left of —2.

-4 -2 0 2 4
18. The solutions —5 < d = 2 are the solutions
commonto -5 < dand d = 2.
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-7 -5-3-1 1 3

19. The solutions of c > —1 or ¢ < —5 are the
combined solutions of c > —1 and ¢ < -5,

-7 -5-3-1 1 3
20. b=3
3 is a solution, so draw a closed circle on 3. Shade
the line to the right of 3.
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Solytions: Chapter 12 Multi-Step Equations and Inequalities
Chapter Test;

21.n+8< -9
& -8B
n<-17

s OH————
—20—15-10 -5 0 5

22. n— 124> —59
+124 +124
n> 65
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23. 40 > 32
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—1,280 > x
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24. —-%yﬁ —-12
4= (4
y=16
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25. Let x represent the amount she needs 1o save.

46 + x= 125
—-45 —46
x= 79

Rosa needs to save at least $79.

26. Let x represent the number of gallons.
2.76x = 22.00 '

2.75x . 22.00
275 275
x=8
At most 8 gallons can be bought.

27. m—-78= 23.7
+7.8 +7.8
m= 315
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Solutions: Chapter 12 Multi-Step Equations and Inequalities
Chapter Test;

98. 6z> -22

3
Bz>—g

> 3)-3

w
29. vy =34

—4.0) W > (—
(~4.9) W= (-49)34
w= —16.66
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—~17 —165 —16
30. - 15<4a+9
-9 -9
—24 < 4z
—24 _ 4a
4 <4
—-B<a

3. 28-E> 74

(5)g> (5)4
d>20
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Solutions: Chapter 12 Multi-Step Equations and Inequalities
Chapter Test;

33. Let x represent how much money they must collect.
198(20) + 198x= 7500
3960 + 198x = 7500
—3960 —3960
198x = 3540

198x .. 3540
198 ~ 198
X = 17.87

Each student must raise at least $18.




